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e £ 7,821 (4,044) 5,748 1,505  (672) 3.8

ME 168 (118) 125 35 (19) 3.6

B5 26 (2) 14 11 0 1.3

2008 30 (2) 16 12 (1) 1.3

+K 12 (1) 7 6 (1) 1.2

g 14 (3) 10 8 (2) 1.3

b 34 (9) 17 8 (2) 2.1

R ED Sypii 9 (1) 3 2 0 1.5

BF - 1R 17 (7) 9 7 (2) 1.3

BRITF 0 - 0 0 0

f=gea 20 (9) 12 10 (6) 1.2

MF 3 (1) 2 1 0 2.0

£y - £l 19 (12) 9 6 (4) 1.5

H 8,173 (4,209) 5,972 1,611 (709) 3.7
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i =% 8,998  (4,269) 6,073 1,401 (566) 4.3
ME 233 (153) 169 42 (26) 4.0
B5 38 (1) 25 19 (0) 1.3
200 31 (3) 17 15 (2) 1.1
+K 10 (0) 5 3 (0) 1.7
B 24 (17) 18 15 (11) 1.2
b 45 (13) 29 17 (2) 1.7
ESEIIED W3R 13 (3) 8 4 (0) 2.0
B - 1ER 23 (6) 13 11 (4) 1.2
ERIF - - - - - -
BF 12 (4) 9 6 (2) 1.5
MF 2 (1) 1 1 (0) 1.0
YY) - EamklE 18 (6) 5 4 (1) 1.3
5 9,447  (4,476) 6,372 1,538  (614) 4.1
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= 9,949  (4,639) 1,369 (562 7.3
¥
(= 213 (142) 27 (13) 7.9
BR 44 (5) 15 (1) 2.9
200 53 (7) 26 (3) 2.0
+K
B 37 (11) 19 (5) 1.9
b 47 (20) 19 (6) 2.5
S TED 43R 17 (6) 6 (1) 2.8
BT - 15K 24 (7) 12 (2) 2.0
BRIY
BF 22 (5) 12 (3) 1.8
RF
£ - EwRE 29 (13) 11 (3) 2.6
H 10,435  (4,855) 1,516  (599) 6.9
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£ 11,257  (5,026) 1,456  (506) 7.7
¥

ME 214 (145) 32 (19) 6.7
BR 37 (3) 20 (2) 1.9
2008 49 (2) 19 (2) 2.6
+K 13 (1) 5 (0) 2.6
B 44 (18) 20 (8) 2.2
b 83 (19) 30 (5) 2.8
S EEN W3R 18 (1) 10 (0) 1.8
BT - 15K 25 (1) 17 (1) 1.5

ERIF - - - - -
BF 26 (12) 7 (4) 3.7

RF - - - - -
£ - EHRF 8 (4) 5 (2) 1.6
5 11,774  (5,232) 1,621 (549) 7.3
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